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21 The curve below shows the temperature changes as liquid Q was cooled from 60 °C to 10 °C.

temperature ﬂ °C
h

w

60+
50-
40-
304
20+

104-

0

L

-

fime / min

Which statement comrectly describes the particles of liquid Q at various regions of the curve?

o O W P

The particles exist as a mixture of gas and liquid at region XY.

The particles are vibrating about fixed positions at region YZ.

Heat energy is gained by the particles at region XY to overcome the forces of attraction.

The particles are arranged far apart and in a disorderly manner at region WX.

22 Some hexane has been added to a beaker of copper(il) sulfate solution. Hexane is a non-polar

solvent that has a boiling point of 69 °C and is immiscible with water.

Which of the two methods can you use to obtain samples of hexane and copper(ll) sulfate

crystals?
method 1 method 2
A fractional distillation crystallisation
B simple distillation evaporation
c using a separating funnel evaporation
D using a separating funnel crystallisation
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11
23 Salt Ris heated strongly in a boiling tube and the following observations are observed.

s agas evolved turns damp red litmus paper blue
* a gas evolved forms white precipitate when bubbled through imewater
» water droplets formed at the top of the boiling tube

What is the identity of salt R?
A NH.CI B FeCO;

C  (NH4):COs3 D CuCl:

24 An element X has an electronic configuration 2.2.
The compound formed when X combines with oxygen is most likely to be
A a compound with a low melting point.
B a gas that dissolves in water to form an electrolyte.
C a good conductor in both solid and molten state.
D

an ionic solid.

25 Strontium reacts with element X to form a compound with the chemical formula, SrX.

How many electrons and protons can be present in an ion of element X7

number of number of
electrons protons
A 10 9
B 10 8
c 10 10
D 18 20

[Turn over
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12

50 cm?® of aqueous 0.1 mol / dm® hydrochloric acid exactly neutralises 40 cm® of aqueous
potassium hydroxide solution. The equation for the above reaction is as shown below.

HCI + KOH - KCI + H20
What is the concentration of the potassium hydroxide solution?
A 0.625mol / dm® B  0.0625 mol / dm®

C 0.0125mol/dm? D 0.125mo!l/dm?®

12.6 g of sodium hydrogencarbonate undergoes thermal decomposition when heated as shown
in the following chemical equation.

2NaHCO; = NaCO; + H0 + CO2
What is the volume of carbon dioxide produced in this reaction?
A 0.075dm? B 18dmt

¢ 18dm* D 36dm®

Ethane, C>Hs bums in oxygen to produce carbon dioxide and water as shown in the equation
below.

2C2He (g) + 702(g) > 4C02(g) + 6H20 (1)

What is the final volume of gas(es) present at the end of the reaction, when 40 cm? of ethane
bums in 150 cm?® of oxygen?

A 10cm?
B 40cm®
C 80cm?
D 90cm?

[Turn over
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29 In a set of two different experiments, some magnesium ribbons were reacted with excess
sulfuric acid and the loss in mass of the reaction flask were measured.

The graph shows the results of two experiments, P and Q.

mass of
reaction flask

=]

Which statement best explains the difference between experiment P and Q7
A lLarger pieces of magnesium ribbons were used in Q.
B The temperature was lower in Q.
C Alarger mass of magnesium ribbon was used in P
D

A higher concentration of sulfuric acid is used in Q.

30 Substance R are added to agueous potassium iodide and acidified agueous potassium
permanganate(VI!). The observations are recorded below.

chemical observations
aqueous potassium iodide colourless solution turns brown
acidified potassium
permanganate(Vil)

pumple solution turns colourless

From the observations, what can be deduced about substance R?
A ltis a reducing agent only.

B Itis an oxidising agent only.

C Itis both a reducing and oxidising agent.

D

It is neither a reducing or oxidising agent.

BP-276
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31 Which of the following is a redox reaction?

A AgNOs; + HCI = AgCl + HNO:3
B Nz+3H2>2NH;

C LiOH + HNO; > LiNOs + H:O
D NHg +OH 2> NH.OH

32 In some coal-burning factories, waste gases are first passed through a wet mixture of powdered
calcium carbonate and calcium oxide to remove harmful gases before releasing to the

environment.
Which gas will not be removed by this mixture?
A carbon monoxide
B carbon dioxide
C sulfur dioxide
D

nitrogen dioxide

33 Excess dilute sulfuric acid was added to a fixed volume of aqueous barium hydroxide.

Which graph best represents the variation in the total number of mobile ions present in the

solution?
A B c D
3 |
g H ; E
s 5 5 5
&
: 3 : i
- - =] o
& & ;=1 -3
3 e gt 8 - o W
amout of aid added amount of acid sdded senount of scid added smout of acid added

34 Lead(ll) sulfate is an insoluble salt that is used in production of batteries.

Which of pair of reactants can be best use to produce lead(l1) sulfate?

reactant 1 reactant 2
A lead sulfuric acid
B lead oxide potassium sulfate
c lead hydroxide sulfuric acid
D lead nitrate sodium sulfate
[Fum over
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35 The positions of unknown elements J, K, L, M and N are shown in the partial Periodic Table
below.

period gromp
[l MWV | Vv | VI V|0
1 L
2 J
3 K N

Which of the following statements is comrect?
A Jis less dense than K.
B Jis more reactive than K.
C L has a darker colour than M.
D M has a higher boiling point than N.

36 The bar chart shows the variation of a specific property of elements in Period 2 from {ithium to
neon.

property
'y

Which property of these elements is shown in the chart?
A The number of electrons used in bonding.
B The number of electron shells.
C The boiling and melting points.
D

The atomic radius.

[Turn over
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37 In a experimental to determine the reactivity of metals Q, R and S, the reactions of the metals
with cold water and dilute hydrochloric acid were recorded in the table below. A shaded box
indicates that the reaction is not carried out.

metal reaction with cold water

reaction with dilute
hydrochioric acid

displacement reaction

no reaction

readily

no reaction

can displace metal Q
from its salt solution

slow

What is the order of reactivity for metals Q, R and S starting from the most reactive to least

reactive?

A S>R->Q
B S$>Q-=2R
C Q2>R->S
D R>S~>Q

38 Materia! X is lightweight and strong. The atomic structure of the material X is shown beiow.

Which statement best explains why material X is strong enough to be used for building of
aircrafts body?

A

B
c
D

Material X has many free electrons that hold the atoms in place.
Metal atoms in material X cannot slide over each other easily.
The atoms in material X are more compact resulting in greater density.

The atoms are arranged in a crystal lattice structure with strong ionic bonds existing
between the atoms which prevents them from moving.

[Turn over
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39 Which reaction describes how pure iron is formed in the blast furnace?

A Iron ore thermally decomposes into iron and oxygen gas at high temperatures in the
furnace.
B Calcium carbonate reacts with iron ore to form pure iron and slag.

C Carbon monoxide produced in a reaction reduces the iron ore.
D  Coke reacts with iron ore at high temperature.

40 A woman was cooking using a charcoal stove as shown below. She closed the windows to the
kitchen as it started to rain heavily. She soon develops a headache and dizziness.

Which of the following air poliutant is responsible for her symptoms?

A carbon monoxide B carbon dioxide
C sulfur dioxide D oxides of nitrogen
END OF PAPER
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Colours of Some Common Metal Hydroxides

calcium hydroxide white

copper(11) hydroxide light blue

iron{I1} hydroxide green

iron{1ll} hydroxide red-brown

tead{I1} hydroxide white

zinc hydroxide white
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Section A
Answer all the questions in the spaces provided,
Write your answers in the spaces provided on the question paper

The names of five oxides are given below.

(a)

(b)

sulfur dioxide
potassium oxide
dichlorine monoxide

nitrogen monoxide

zinc oxide
Name an oxide that
(i) reacts with both nitric acid and sodium hydroxide.
........................................................................................................................... [1]
(ii) turn moist blue litmus paper red.
........................................................................................................................... [
Draw z 'dot and cross’ diagram for dichlorine monoxide. Only the outer shells
of electrons need be shown.
[2]
[Total: 4]
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A2 The apparatus shown in Fig. 2.1 can be used to separate ethanol from a solution of
coloured dyes in ethanol.

solation of
dyesin
ethanol

Fig. 2.1

(a) Name the separation technique shown in Fig 2.1.

...................................................................................................................................... [
{b) During the experiment, explain how you can check that the ethanol obtained
is pure.
....................................................................................................................................... 0]
{e) Using Kinetic Particle Theory, describe the changes in terms of the
arrangement and movement of the particles as it moves from X to Z.
...................................................................................................................................... (2]
[Total: 4]
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A3 Carbon monoxide and nitrogen monoxide are pollutants from cars that can be removed
through a catalytic converter.

The equation for such a reaction is given.

(a)

2C0O (g) + 2NO (g) — N2 (g) + 2CO: (g)

Explain why carbon monoxide causes breathing problems.

.......................................................................................................................................

...................................................................................................................................... [
Explain how nitrogen monoxide is formed in a car engine.
...................................................................................................................................... [1]
Identify the oxidising agent in the reaction above. Explain your answer in
terms of the oxidation states.
oxidising agent
explanation
{2

L N A R R A N A R A R N N R A N AN NN ANAAAEARLAANSASESERAREREEEEEREEEEEEE

Explain why this reaction does not remove alt the environmental problems caused
by exhaust gases.

---------------------------------------------------------------------------------------------------------------------------------------
---------------------------------------------------------------------------------------------------------------------------------------

R A R S TR AW B NP R R PN R A R R N N R A N AN NN NN NN E SR UNAATIANE NI T AN NN RO
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A4 Nitrogen exists as two isotopes, 4N and '3N. They can form useful compounds such as
sodium nitride and nitrogen trifluoride, which are used in food preservation and manufacture
of semi-conductors respectively.

(a) Using nitrogen as an example, explain what is meant by the term isofopes.

---------------------------------------------------------------------------------------------------------------------------------------

---------------------------------------------------------------------------------------------------------------------------------------

(b) Complete Table 4.1 below to show the number of subatomic particles in the ion of

each isotope.

Table 4.1
ion number of
protons neutrons electrons
4 513-
ITN
1_?N3-

[2]

(c)  Explain, in terms of bonding and structure, why nitrogen trifluoride is a gas at room

temperature.

R R RN N A F YRR N TR E RS A RTINS F NN R RN N AR IR ORI AR R TN

------------------------------------------------------------------------------------------------------------------------------------------------

[2]

......................................................................................................................................
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A5 Fig 5.1 describes some chemical reactions related to salt A.

heat

salt A > gas B + | browngasC | + water
aqueous relights turns moist blue
ammonia glowing splint litmus paper red
sodium
hydroxide
v
no visible aluminium foil
change white precipitate | and wam colourless,
D “1 pungentgas E
insoluble f” turns moist red
excess sodium litmus paper blue
hydroxide
Fig 5.1

(a} Identify the unknowns A, B, C, D, and E.

A ...........................................................................................................................

B oo ee e oo oo 8oL e oo oo e e ettt e

c ...........................................................................................................................

D e eam—eooeeee oo e set RSSO SRR et ettt
B oot seessserese AR Rk BAAA R8RSR RS [5]

(b) Write an ionic equation for the formation of D.

....................................................................................................................................... g
[Total: 6]
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A6 In separate experiments, powdered samples of metal X and metal Y reacted with
solutions of nickel(11) suifate and iron(1!) sulfate. Table 6.1 shows the change in colours of
the solutions.

(a)

(b)

Table 6.1
metal X metal Y
nickel(l!) Solution turns from green | Solution tums from green
sulfate to colourless to colourless
. Solution remains pale Solution turns from pale
iron(l) sulfate green green to colourless

Predict the order of reactivity for the four metals: X, Y, nickel and iron.

maost reactive

-----------------------------------------------------------------------------------
-----------------------------------------------------------------------------------

-----------------------------------------------------------------------------------

least reactive [1]

Metal Y does not react with cold water but reacts with steam to produce a solid, Z.

Suggest the identity of metal Y.

..................................................................................................................................... (1]
In another experiment, powdered sample of metal Y was placed in a solution of
copper(ll) sulfate.

Describe the observations of the experiment.

...................................................................................................................................... 2]

[Total: 4]
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AT Acid J has a relative molecular mass of 36.5. A 200 cm?® aqueous sample contains 182.5¢
of J.

(@ @) Calculate the concentration of J in g/dm?®.

concentration= ... 9/dm’ [21

{ii) Calculate the concentration of J in mol/dm?.

concentration = mol/dm?® [1]

-----------------------------

(b} When J is mixed with acidified aquecus silver nitrate, a white precipitate K forms.

()] Silver carbonate is white and insoluble in water. Explain why K cannot be
silver carbonate.

(ii) Suggest the identity of J.

.......................................................................................................................... [1]
[Total: 5]
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A8 (a) Iron from blast furnaces is usually mixed with other elements to form alloys.

Give a reason why this use of alloy is preferred to that of iron from blast furnaces.

--------------------------------------------------------------------------------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------

[2]

--------------------------------------------------------------------------------------------------------------------------------------

(b) Use chemical equations to explain how impurities are removed from the iron ore in
the blast furnace.

--------------------------------------------------------------------------------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------
......................................................................................................................................
......................................................................................................................................
......................................................................................................................................
......................................................................................................................................
--------------------------------------------------------------------------------------------------------------------------------------

T T L L L L L L P P e e Ty T PR LT L R R LR LRI L L EL LT E L EE L R L LI LI
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A9 When calcium carbonate is added to dilute hydrochloric acid, carbon dioxide gas is formed.

A student wants to study the rate of this reaction by measuring the volume of gas formed
over time. He added a small mass of powdered caicium carbonate to an excess of 0.1
molfdm?® hydrochloric acid. A datalogger was used to plot the graph shown in Fig. 9.1.

4400
300
volume
ofgas 200
fem?
100 .
Fi
0
0 30 60 90 120 150 180 210 240
time/s
Fig. 9.1

{a) (i) State the time the reaction stopped.

(i) Explain why the reaction stopped.

(1]

---------------------------------------------------------------------------------------------------------------------------

(b) The experiment was repeated using the same quantity of reactants but large lumps
of calcium carbonate was added instead of the powder form.

{i) On Fig 9.1, sketch a curve to represent the graph you would expect. Label
the curve, ¢.

1]

PartnerinLeaming
More papers at v%\%vz.testpapersfree.com

BP~292



BP~293

11

(ii) Explain one similarity and difference between your graph and the original
graph.
simiiarity

...................................................................................................
-------------------------------------------------------------------------------------------------------------------------
...................................................................................................
...................................................................................................
-------------------------------------------------------------------------------------------------------------------------
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Section B
Answer any two questions.

Write your answers on spaces provided on the question paper.

B10 In an experiment, acid H>X solution was added to 10 cm? of 0.05 mol/dm?® aqueous sodium
hydroxide in a reacting flask.

(a) Acid HzX reacts with agueous sodium hydroxide according to the following equation.
H>X (ag) + 2NaOH (ag) = Na:X (aq) + 2H:20 (1)

(i) Calculate the number of moles of NaOH that has reacted.

number of moles = mol (1]

----------------------------------------

(i) 15 cm?® of acid is required to completely neutralise aqueous sodium hydroxide.

Calculate the concentration of the acid H2X.

concentration = mol/dm®  [2]

........................................

(b) (i) State one condition that you would change to increase the rate of reaction without
changing the amount of product formed.

....................................................................................................................................... (1]

(i) Using collision theory, explain how the condition in (b)(i) will increase the rate of
reaction.

2]

PartnerinLeaming
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(¢) Describe how you would prepare the Na:X. Include a suitable indicator in your
description.

................................................................................................................................................
------------------------------------------------------------------------------------------------------------------------------------------------
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................

------------------------------------------------------------------------------------------------------------------------------------------------

................................................................................................................................................ 4]

B11 The Thermit reaction is used to weld railway rails together.

In Thermit reaction, aluminium powder reacts with iron{lll} oxide to make smail amounts of
molten iron which runs into the gaps between the rails. Solid aluminium oxide is formed at the
same time.

(a} Complete the equation for Thermit reaction by filiing in the missing state symbols.

2Al(........ ) +  Fe03(........) <> 2Fe(........ ) +  AROs(...... }
(1]
(b) Table 11.1 shows some information about oxidation state changes during the reaction.
Table 11.1
oxidation state at oxidation state at oxidised or
element the start the end reduced?
oxygen -2 -2 unchanged
aluminium
iron

(i) Complete Table 11.1. 2]

(i) Hence, or otherwise, explain why Thermit reaction is a redox reaction.

.................................................................................................................................................

-------------------------------------------------------------------------------------------------------------------------------------------------
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(c} (i) Predictif the melting point of aluminium oxide is high or low. Explain your answer in
terms of structure and bonding.

---------------------------------------------------------------------------------------------------------------------------------------
---------------------------------------------------------------------------------------------------------------------------------------

.......................................................................................................................................

(fi) Draw a 'dot and cross’ diagram to show the arrangement of outer shell electrons in
aluminium oxide.

[2]

{(d) Is Thermit reaction an endothermic or exothermic reaction? Explain your answer.
................................................................................................................................................ [2]
[Total:10]
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B12 (a) This question makes reference to Group | and Group VIt of the periodic table. Lithium,
sodium and potassium belong to Group | of the Periodic Table.

Table 12.1 shows the observations when these three metals react with water.

Table 12.1
Group | metal observation
lithium reacts quickly
sodium reacts violently
potassium reacts very viclently

(i) Describe and explain the reactivity of Group | metals down the group.

-------------------------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------

..................................................................................................................................... [3]
(i)  Rubidium is located below potassium in Group 1.
Predict what would happen when rubidium reacts with water.
..................................................................................................................................... [1]
{(iil) Name the gas evolved when Group | metals react with water.
(11

PartnerinLearning
More papers at wwaﬂZstpapersfree.com




(b)

(¢}

16

The elements fluorine, chiorine, bromine and iodine have atomic numbers 9, 17, 35 and
53.

All of these non-metallic elements are placed in Group V!l of the Periodic Table.

) Describe a change in physical property down Group VII.

..................................................................................................................................... [1]
(ii)  Chlorine gas is bubbled into an agueous solution of potassium iodide.
Describe the changes that wouid be observed. Explain your answer.
DESCHIPHON et erreseese s s sees s seees s st asmasssems rens e sessessess
BXPIANAUON s sessa s st eSS
..................................................................................................................................... [2)
(iii) Write an ionic equation, with state symbols, for the reaction in (b){ii).
..................................................................................................................................... [
Write the name and formula of a compound formed when an element from Group |
combines with an element from Group VII.
name of compound: .. eremmnines chemical formula: ... [1]
[Total:10]

END OF PAPER
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Colours of Some Common Metal Hydroxides

calcium hiydroxide white
copper(Il) hydroxide light blue
iron{I1} hydroxide green
iron(fiL) hydroxide red-brown
lead(IT) hydroxide white
zinc hydroxide white
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Prelim answer key

Ala {i} zinc oxide
{ii) sulfur dioxide / dichlorine monoxide

Alb

A2a Fractional distillation

A2b | The thermometer reads 78°C. / constant boiling point

AZ2c | AtX, ethanol is in the gaseous state. The particles are far apart in a disorderty
manner and they randomly at high speed in all directions.

At Z, ethanol is in the liquid state. The particles are closely packed in a disorderly
manner_and will be sliding over each other.

A3a | Carbon monoxide binds with haemoglobin in blood to form carboxyhaemoglobin
which prevent blood from transporting oxygen to all parts of body, resuiting in
suffocation or difficulty breathing.

A3b Nitrogen and oxygen in air react at high temperatures in a car engine to form
nitrogen monoxide,

A3c | oxidising agent: nitrogen monoxide
explanation: Nitrogen monoxide is reduced. The oxidation state of nitrogen in
nitrogen monoxide decreased from +2 in NO to 0 in Na.
OR
Carbon monoxide is oxidized. The oxidation state of carbon increased from +2 in
CO to +4 in CO;.

A3d | Carbon dioxide is still formed as a product.

Excessive carbon dioxide produced can cause global warming / enhance
greenhouse effect.
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Ada | Both nitrogen-14 and Nitrogen-15 have 7 protons. 1
Nitrogen-14 has 7 neutrons while nitrogen-15 has 8 neutrons. 1
Isotopes are atoms with the same number of protons but different number of
neutrons.

Adb ion number of

protons neutrons elecirons
YN 7 7 10 1
N 7 8 10 1

Adc | Nitrogen trifluoride is a covalent compound with simple molecular structure. |1
The molecules are held together by weak intermolecular forces of attraction. | 1
Little energy is required to overcome the forces of attraction. Hence, it has a
low boiling point and exists as a gas at room temperature.

A5a | A —calcium nitrate 1
B — oxygen 1
C — nitrogen dioxide 1
D — calcium hydroxide 1
E - ammonia 1

Asb | Ca?® {aqg) + 20H (aq) —» Ca(OH) (s) 1

Aba |Y
iron
X
nickel 1

Asb | zinc 1

A6c | Blue solution tumns colourless. 1
Reddish-brown precipitate formed on metal Y. 1

A7a 82.5

i} Concentration = ——

(i) Co °" 300
1000 0
= 912.5g/cm®

(i) Concentration = 2—12

36.5
= 25 mol/dm? 1
A7b | Silver carbonate will react with acid to form a soluble salt. 1
A7c | Hydrochloric acid 1
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A8a | Alloys have atoms of different sizes which disrupt the orderdy arrangement.
This prevents the layers of atoms from sliding over one another easily when
a force is applied. Thus, alloys are harder and stronger, thus preferred to
fron.
AsSb | Limestone added decomposes to calcium oxide and carbon dioxide.
CaCQO3 — Ca0 + CO:
Calcium oxide neutralizes the acidic impurities, such as silicon dioxide, to
form slag.
Ca0 + Si0,; — CaSiO;
A9a | (i)114-120s
(i) Calcium carbonate has completely reacted as hydrochioric acid is in
€XCess.
Agb | {i)
400
300
volume
ofgas 200
fom?®
100
0 1T
0 30 60 90 120 150 180 210 240

thme/s

(i1} Siggilarity: Fi.vdlime ofsaNgroduced;ramains the same as calcium carbonate
is & limiting reactant. Since the mass of calcium carbonate remains the same, the

volume of gas produced remains unchanged.

Difference: Gradient is less steep. The speed of reaction is slower as the large
lumps of caicium carbonate have lesser surface area for the reaction to take place.
Hence, resulting in a slower reaction.
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Section B
B10
2 | ) number of moles = —C—x0.05
1000
= 0.0005
(i} number of moles of HzX = 0.0005 + 2
= 0.00025 mol
, (.00025
concentration =
15
1000
= 0.0167 mol/dm?

B10b

(i) warm the acid

(i) An increase in temperature will result in an increase in kinetic energy of
particles, hence more particles have energy greater than or equal to
activation energy. Hence, this increases the frequency of effective collision
between particles, resulting in a higher rate of reaction.

B10c 1. Pipette 25.0 cm? of NaOH and place it in a conical flask.
2. Add methyl orange into conical flask. Solution turns yellow.
3. Titrate H2X from the burette into the conical flask until the solution in
the conical flask furns orange.
4. Note the volume of H2X needed at the end-point.
5. Repeat titration mixing the using the same volume of H,X but
without indicator.
6. Heat the solution to dryness. / crystallization
Blla | 2Al (s) + Fez0; (s) — 2Fe (1) + Al:O3 (s)
Bilb element oxidation state oxidation state at oxidised or
at the start the end reduced?
oxygen -2 -2 unchanged
aluminium 0 +3 oxidised
iron +3 0 reduced
B11b | (ii) In the reaction, aluminium is oxidised and iron in Fe, O3 is reduced, so

thermit is"#iredéx reagilin.

Blic

|)Alum[n|uiW6 &%ﬁs a high melting point.

Aluminium oxi giant crystal lattice structure.
The ions are he d together by strong electrostatic forces of attraction.
Hence, a lot of energy is required to overcome the strong forces of attraction

and aluminium oxide has a high melting point.

(i)
pL hig
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B1id | Thermit is an exothermic reaction.
Heat energy is released in the reaction and the high temperature is
sufficient to melt iron.

B12a | The reactivity of Group | metals increases down the group.

)
Down the group, there are more filled electron shells between the nucleus
and the vaience electron.
Hence, there is a greater tendency to lose the valence electron to attain the
noble gas electronic configuration.

B12a | Rubidium will react explosively with water.

(it)

B12a | hydrogen

(i)

B12b | Melting point/boiling point increases OR

(i) Colour becomes darker

B12b | Colourless solution turns brown.

(i)
Chlorine is more reactive than iodine and will displace iodine from
potassium iodide to form iodine.

B12b | Cl2 (g) + 2I" (aq) — 2CI (aq) + |z (aq)

iii)

B12¢ | Lithium fluoride, LiF

Sodium chloride, NaCl
Accept any Group | & VIl compound.
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